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When pupils have learned to add and subtract
fractions by the ordinary method, they will be much
interested in a simple artifice by which the opera-

tion may be performed by a rapid mental solution.
Place upon the board a few questions in addition :
R P+ s+ v

Ask the pupils to add these by the ordinary
methods. They of course get the answers 1%, £,
#¢. How is 7 obtained from 3 and 4?
12 obtained from 3 and 4? How is 13 obtained
from 6 and 7 How is 42 obtained from 6 and 77
How is 23 obtained from 13 and 10?7 How is 130
obtained from 13 and 107 When the pupils clearly
see that the numerator of the sum is found by add-
ing the denominators, and the denominator of the
sum by multiplying, place many such questions
upon' the board, asking for “ hands up ” to supply
answers. '

frt+d=? drti="7 fotr=?

It will be observed that these fractions have de-
nommnators which are prime to each other; but
even when not prime, the operation can be per-
formed more quickly by this method than by find-
ing the “least common denominator.”

6+4
Thus 1 + =-§T=§%=1’9‘

f‘*‘ﬁ*’%%?"fols“s'%

All these steps can be readily kept “in mind,” so

that a pupil, after a little practice, will infer the

answer at a glance:
When the numerators are greater than unity, as

R L T AL A

lead the pupils to observe that the results are:
4x10+3xT7 22+15

$+%= ’70—"“=Hv§+151=—‘3?‘=%§'

The brightest pupils will add three fractions

almost as readily:
9x5+3x2+3x5 10+6+15_ 4,
bri+i= 30 =—3p b

In subtraction:

How is -

305

RarID MULTIPLICATION.

My ‘pupils are much interested in certain forms
of rapid multiplication which will apply to a great
variety of numbers. The simplest of these are:

What part of 100 is 507 Then:

48X 50=V; of 48=24X100=2400
64X 50=Ys of 64=32X100=3200

What part of 100 is 257 Then:

48X 25=Y4 of 48=12X100=1200
64X25=% of 64=16X 100=1600

What part of 100 is 757 Then:

48X75=% of 48=36X100=30600
g 64X75=% of 64=48X100=4800
What part of 100 is 12}47 Then:

48X 12Y4=14 of 48=06X 100=0600

64X 12Y4=% of 64=8X 100=800

How much is g9 less than 1007 Then:

35X99=3500—35=3465
85X 99=8500—85=8415

How much is 8 less than 1007 Then:

35X 98=3500—2X35=3430
85><98=85oo-—2x85=833o

How much is 49 less than 507 Then:

48X 49=2400—48=2352
64)(49:3200—64:3136

Mow much is 51 more than 507

48X 51=2400-+48=2448
64X 51=3200+64=3204
How much is 52 more than 507
48X 52=240096=2496

64X 52=3200+128= 3328

How much is 26 more than 257
48X 26=1 200+48=1248
64X26=1600+64=1664
" How much is 24 less than 257
48X 24= 1200—48=1152
64)(24:1600—64:1-‘1536

Then:
Then:
Then:

Then:

The teachers will observe that this entire operation
can be readily performed by 2 mental solution, and
after some practice very large numbers may be
used which makes the exercise the more attractive
to the pupils.

—

The Doukhobor migration of eight thousand per-
sons from Southern Russia to Canada in 1800 was
the greatest modern exodus of a whole people:




